Year 2 Measurement - Maths Day 6						20.7.2020  
Please look through the powerpoint (from last Friday) to help you before you start these questions. Remember that you may need to use resources or paper to help you work out some of the answers.
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Super Challenge (Optional): 
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Answers: On the next page so please DO NOT look until you have finished your work first.
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1a. Carter is reading the femperature
outside. He says,
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Is he correct?

1b. Evelyn is reading the femperature
outside. She says,
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Is she correct? oc

Explain why.

by

2a. Which thermometer is the odd one
out? Explain why.
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2b. Which thermometer is the odd one.
out? Explain why.
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3a. Gabriel is describing a femperature
Draw on the thermometer, one possibility
of what the femperature could be.
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number which is higher fhan
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3b. Camilla is describing a temperature.
Draw on the thermometer, one possibility
of what the femperature could be.
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4a. Lewis is reading the femperature
outside. He says,

100°C
0°C
s0ec
70C

4b. Rose is reading the femperature
outside. She says,

Is she correct?

Explain why.
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sa. Which thermometer is the odd one
out? Explain why.
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sb. Which thermometer is the odd one
out? Explain why.
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&a. Mason is describing a femperature.
Draw on the thermometer, one possibility
of what the femperature could be.
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sb. Isabella is describing a femperature.
Draw on the thermometer, one possi
of what the femperature could be.
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7a. Owen s reading the femperature
outside. He says,
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Is he correct? oc

Explain why.
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7b. Hazel s reading the temperature
outside. She says,
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8a. Which thermometer is the odd one
out? Explain why.

8b. Which thermometer is the odd one
out? Explain why.
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9a. Jaxon is describing a femperature. 9b. Adliyah is describing a femperature.

Draw on the thermometer, one possibility
of what the femperature could be.

This femperature has 2 digi

When you add the digits

together, he fotalis a mulfple.
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Draw on the thermometer, one possibility
of what the femperature could be.
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Reasoning and Problem Solving
Temperature

Developing
1a. Carler is incomect because the
thermometer is going up in increments of
10°C 50 the temperature is 80°C.

2a. Various possible answers, for example:
Cbecause itis the only temperature that
has 1 digit. A could also be the odd one
out because it is the only temperature
which does not use the digit ‘4
3a. Various possible answers. Gabriel
could be describing §°C, 7°C or 9°C.

Expected
4a. Lewis is incorrect because the
thermometer is going up in increments of
10°C 50 the temperature is 20°C.

Sa. Various possible answers, for example:
B could be the odd one out because it
goes up in increments of 5°C. A could also
be the odd one out because it shows a
temperature of 70°C whereas B and C
both show 40°C.

&a. Various possible answers. Mason
could be describing: 12°C, 14°C, 16°C,
18°C and 20°C.

Greater Depth
7a. Owen is correct because the
thermometer is going up in increments of
10°C 50 the temperature is 40°C.

8a. Various possible answers, for example:
C because itis the only temperature
which is not a multiple of 5. B could also
be the odd one out because it is the only
temperature that falls directly on a
marked increment.

sa. Various possible answers. Jaxon could
be describing: 11°C, 13°C, 15°C, 17°C or
20°C.

Reasoning and Problem Solving
Temperature

Developing
1b. Evelyn is correct because the
thermometer is going up in increments of
19C 50 the temperature is 2°C.

2b. Various possible answers, for example:
Abecause itis the only odd temperature.
B could also be the odd one out because
is the only femperature that has 3 digits.
3b. Various possible answers. Camilla
could be describing 30°C, 40°C, 50°C or
soc.

Expected
ab. Rose is correct because the
thermometer is going up in increments of
5°C 50 the femperature is 30°C.

$b. Various possible answers, for example:
Abecause itis the only thermometer
which shows an odd femperature. & could
alzo be the odd one out because it s the
only thermometer that has two g
labels.

4b. Various possible answers. lsabella
could be describing: 10°C, 20°C, 30°C,
40°C and 50°C.

Greater Depth
7b. Hazel is incorrect because the
thermometer is going up in increments of
5°C 50 the femperature is 40°C.

8b. Various possible answers, for example:
Abecause itis the only even temperature.
C could also be the odd one out because
the only thermometer that has four
labelled measurements on ifs scale.

9b. Various possible answers. Aaliyah
could be describing: 25°C, 30°C or 35°C.





